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Table 1

The Accumulated Difference in Net Carbon Release (10'?g) between the Base Scenario and the
Climate Change Scenario Under Normal Timber Demand Scenario

Time (yr)
Scenario 15 30 45 60 75 90
Base *(A) 10,893 21,268 26,553 26,825 22,433 14,313
Climate Change *(B) 10,797 18,601 17,766 10,016 -6,203 -25,966
The Difference in
Net Carbon Release* -96 -2,667 -8,787 -16,809 -28,636 -40,279

(B-A)

*denotes accumulated amount of net carbon release.



Table 2

The Accumulated Difference in Net Carbon Release (10'*g) between the Base Scenario and the
Climate Change Scenario under High Timber Demand Scenario

Time (yr)
Scenario 15 30 45 60 75 90
Base *(A) 8,076 18,028 25,805 29,571 28,713 21,830
Climate Change *(B) 10,412 21,359 27,057 27,300 21,598 7,760
The Difference in
Net Carbon Release* 2,336 3,331 1,252 2271 -7,115  -14,070

(B-A)

*denotes accumulated amount of net carbon release.
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Table 3

The Accumulated Difference in Net Carbon Release (10'%g) between the Base Scenario and

Climate Change Scenario under Very High Timber Demand Scenario

Time (yr)
Scenario 15 30 45 60 75 90
Base *(A) 12,297 26,353 31,081 26,062 14,630 -3,216
Climate Change *(B) 9,386 22,744 27,759 19,289 -1,566  -35,091
The Difference in
Net Carbon Release* -2,911  -3,609 -8,787 -6,773 -16,196 -31875
(B-A)

*denotes accumulated amount of net carbon release.
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